

# Bid 34-2023 Addendum 1

# Lagco Inc. Supplier Response

### **Event Information**

Number:	Bid 34-2023 Addendum 1
Title:	Joyland Area Storm Drainage Project
Туре:	Competitive Bid
Issue Date:	3/14/2023
Deadline:	4/4/2023 02:00 PM (ET)

#### **Contact Information**

Contact: Brian Marcum Address: Central Purchasing

> Government Center Building Room 338 200 East Main Street Lexington, KY 40507

Phone: (859) 2583320

Fax: (859) 2583322

Email: brianm@lexingtonky.gov

### Lagco Inc. Information

Address: 1490 sunshine lane lexington, KY 40505 Phone: (859) 293-7473

ONLY ONLINE BIDS WILL BE ACCEPTED! By submitting your response, you certify that you are authorized to represent and bind your company and that you agree to all bid terms and conditions as stated in the attached bid/RFP/RFQ/Quote/Auction documents.

blake@lagco.com

Email

Blake Johnson

Signature

Submitted at 4/4/2023 01:28:23 PM (ET)

#### **Response Attachments**

#### Joyland Area Drainage Form of Proposal with attachments.pdf

Joyland area Drainage Form of Proposal - Lagco Inc with all attachments required.

## **Bid Lines**

1	Mobilization (3.5% maximum)				
	Quantity: <u>1</u> UOM: <u>LS</u>	Price:	\$25,000.00	Total:	\$25,000.00
2	General Conditions				
	Quantity: <u>1</u> UOM: <u>LS</u>	Price:	\$43,055.00	Total:	\$43,055.00
3	Clearing and Grubbing				
	Quantity: <u>1</u> UOM: <u>LS</u>	Price:	\$92,934.00	Total:	\$92,934.00
4	Excavation				
	Quantity: <u>12150</u> UOM: <u>CY</u>	Price:	\$41.00	Total:	\$498,150.00
5	Storm Sewer Pipe - 15-inch				
	Quantity: 263 UOM: LF	Price:	\$117.00	Total:	\$30,771.00
6	Storm Sewer Pipe - 18-inch				
	Quantity: <u>48</u> UOM: <u>LF</u>	Price:	\$109.00	Total:	\$5,232.00
7	Storm Sewer Pipe - 24-inch				
	Quantity: <u>79</u> UOM: <u>LF</u>	Price:	\$137.00	Total:	\$10,823.00
8	Concrete Box Culvert - 6'x2'				
	Quantity: 83 UOM: LF	Price:	\$1,140.00	Total:	\$94,620.00
9	Curb Box Inlet - KYTC Type B				
	Quantity: <u>5</u> UOM: <u>EA</u>	Unit Price:	\$6,451.00	Total:	\$32,255.00

1	Storm Sewer Manhole Type A				
0	Quantity: <u>1</u> UOM: <u>EA</u>	Unit Price:	\$6,046.00	Total:	\$6,046.00
1	Surface Inlet - KYTC Type 15				
1	Quantity: <u>1</u> UOM: <u>EA</u>	Unit Price:	\$3,870.00	Total:	\$3,870.00
1	French Drain				
2	Quantity: <u>410</u> UOM: <u>LF</u>	Price:	\$19.00	Total:	\$7,790.00
1	Perforated Pipe Headwall				
3	Quantity: <u>1</u> UOM: <u>EA</u>	Unit Price:	\$2,379.00	Total:	\$2,379.00
1	Concrete Headwall - 15-inch				
4	Quantity: <u>1</u> UOM: <u>EA</u>	Unit Price:	\$2,518.00	Total:	\$2,518.00
1	Concrete Headwall - 18-inch				
5	Quantity: <u>1</u> UOM: <u>EA</u>	Unit Price:	\$3,254.00	Total:	\$3,254.00
1	Concrete Headwall - 24-inch				
6	Quantity: <u>1</u> UOM: <u>EA</u>	Unit Price:	\$2,588.00	Total:	\$2,588.00
17	Concrete Headwall - 44"x70" CMP				
1	Quantity: <u>1</u> UOM: <u>EA</u>	Unit Price:	\$6,932.00	Total:	\$6,932.00
1	Concrete Headwall - 6'x2' Box Culvert				
8	Quantity: 2 UOM: EA	Unit Price:	\$4,455.00	Total:	\$8,910.00
1 9	Connect to Existing Storm Pipe or Structure				
9	Quantity: 4 UOM: EA	Unit Price:	\$222.00	Total:	\$888.00
20	Seal/Safeload Existing Storm Pipe				
U	Quantity: <u>1</u> UOM: <u>EA</u>	Unit Price:	\$10,104.00	Total:	\$10,104.00
2	Sanitary Sewer Manhole - 4' Dia (Under 7' Deep)	_		_	
1	Quantity: 4 UOM: EA	Unit Price:	\$4,693.00	Total:	\$18,772.00
22	Sanitary Sewer Manhole - 4' Dia (Over 7' Deep)				
2	Quantity: <u>3</u> UOM: <u>EA</u>	Unit Price:	\$5,730.00	Total:	\$17,190.00
23	Sanitary Sewer Pipe - 8-inch PVC	_		_	
3	Quantity: <u>343</u> UOM: <u>LF</u>	Price:	\$91.00	Total:	\$31,213.00
2	Sanitary Sewer Pipe - 8-inch Ductile Iron	_		_	
4	Quantity: <u>112</u> UOM: <u>LF</u>	Price:	\$144.00	Total:	\$16,128.00
2 5	Sanitary Sewer Bypass Pumping				
5	Quantity: <u>1</u> UOM: <u>LS</u>	Price:	\$40,417.00	Total:	\$40,417.00

2	Connect to Existing Sanitary Pipe or Structure				
6	Quantity: <u>3</u> UOM: <u>EA</u>	Unit Price:	\$940.00	Total:	\$2,820.00
2	Cut and Cap Existing Sanitary Sewer				
7	Quantity: <u>8</u> UOM: <u>EA</u>	Unit Price:	\$655.00	Total:	\$5,240.00
2	Fill and Cap Existing Sanitary Sewer Manhole				
8	Quantity: <u>2</u> UOM: <u>EA</u>	Unit Price:	\$989.00	Total:	\$1,978.00
2	Sanitary Sewer Creek Crossing (with Conc. Cap	)			
9	Quantity: 27 UOM: LF	Price:	\$280.00	Total:	\$7,560.00
3	Temporary Low Water Crossing				
0	Quantity: <u>1</u> UOM: <u>LS</u>	Price:	\$23,464.00	Total:	\$23,464.00
3	Channel Restoration				
1	Quantity: <u>50</u> UOM: <u>LF</u>	Price:	\$83.00	Total:	\$4,150.00
3	Pavement Milling and Texturing				
2	Quantity: <u>140</u> UOM: <u>TN</u>	Price:	\$133.00	Total:	\$18,620.00
33	Class 2 Asphalt Surface, 0.38B PG64-22				
3	Quantity: <u>140</u> UOM: <u>TN</u>	Price:	\$219.00	Total:	\$30,660.00
3	Replace Concrete Driveway Apron				
4	Quantity: <u>9</u> UOM: <u>SY</u>	Price:	\$509.00	Total:	\$4,581.00
3 5	Replace Concrete Sidewalk				
5	Quantity: <u>71</u> UOM: <u>SY</u>	Price:	\$216.00	Total:	\$15,336.00
36	Replace Sidewalk Curb Ramp				
6	Quantity: <u>2</u> UOM: <u>EA</u>	Unit Price:	\$4,377.00	Total:	\$8,754.00
3 7	Replace Header Curb				
1	Quantity: <u>372</u> UOM: <u>LF</u>	Price:	\$81.00	Total:	\$30,132.00
3	Class II Channel Lining				
ð	Quantity: <u>70</u> UOM: <u>TN</u>	Price:	\$84.00	Total:	\$5,880.00
3 9	Turf Reinforcement Matting (Type 1)				
9	Quantity: <u>580</u> UOM: <u>SY</u>	Price:	\$8.00	Total:	\$4,640.00
4	Coir Matting				
0	Quantity: <u>5200</u> UOM: <u>SY</u>	Price:	\$5.00	Total:	\$26,000.00
4	Remove and Reset Guardrail				
	Quantity: <u>40</u> UOM: <u>LF</u>	Price:	\$194.00	Total:	\$7,760.00

4 2	Seeding and Protection				
	Quantity: 16400 UOM: SY	Price:	\$1.00	Total:	\$16,400.00
43	Stream Buffer Permanent Seed Mix				
3	Quantity: 1600 UOM: SY	Price:	\$4.00	Total:	\$6,400.00
4	Project Sign				
4	Quantity: <u>1</u> UOM: <u>EA</u>	Unit Price:	\$1,000.00	Total:	\$1,000.00
4 5	Erosion Control				
Э	Quantity: <u>1</u> UOM: <u>LS</u>	Price:	\$38,004.00	Total:	\$38,004.00
4	Maintenance of Traffic				
6	Quantity: <u>1</u> UOM: <u>LS</u>	Price:	\$4,601.00	Total:	\$4,601.00
4 7	Demobilization (1.5% minimum)				
	Quantity: <u>1</u> UOM: <u>LS</u>	Price:	\$5,070.00	Total:	\$5,070.00
4	Rock Excavation (Basin Area Only)				
ð	Quantity: <u>100</u> UOM: <u>Cubic Yard</u>	Price:	\$86.00	Total:	\$8,600.00

## **Response Total:** \$1,289,489.00